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QUESTION 1

A small manufacturing company has a Class C network address on the plant floor and needs to create five subnets,
each accommodating 25 endpoints. Which subnet mask needs to be configured? 

A. 255.255.240.0 

B. 255.255.255.128 

C. 255.255.255.192 

D. 255.255.255.224 

E. 255.255.255.240 

F. 255.255.255.248 

Correct Answer: D 

 

QUESTION 2

What is the purpose of Spanning Tree Protocol? 

A. to prevent routing loops 

B. to create a default route 

C. to provide multiple gateways for hosts 

D. to maintain a loop-free Layer 2 network topology 

E. to enhance the functions of SNMP 

Correct Answer: D 

 

QUESTION 3

Exhibit: Refer to the exhibit. A technician enters the exhibited commands to configure a new router on the plant floor, but
receives an error message when attempting to save the configuration. What can the technician do to correct the
problem? 
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A. Enter the correct command. 

B. Enter the command at the correct prompt. 

C. Upgrade the amount of flash memory in the router. 

D. Erase NVRAM to make room for the configuration file. 

E. Add NVRAM because there is not enough room for the configuration file. 

Correct Answer: A 

 

QUESTION 4

An administrator has connected devices to an industrial switch and, for security reasons, wants the dynamically learned
MAC addresses from the address table added to the running configuration. What must be done to accomplish this? 

A. Enable port security and use the keyword sticky. 

B. Set the switchport mode to trunk and save the running configuration. 

C. Use the switchport protected command to have the MAC addresses added to the configuration. 

D. Use the no switchport port-security command to allow MAC addresses to be added to the configuration. 

Correct Answer: A 

 

QUESTION 5
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Which option best describes a mechanical, ingress, climatic, chemical and electromagnetic environment that is
classified as M3 I3 C3 E3? 

A. the highest quality 

B. office environment 

C. severe 

D. serviced by multiple cable segments 

Correct Answer: C 
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